Acid-Base Quiz 2019 Name:

1. What is the pH of a solution whose: 15
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2. Determine the pH of a solution made by mixing 0.25 g of NaOH in 500 mL of water?(4)
NaOH is a very strong base that dissociates at nearly 100%
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3. What is the pH of a 0.400 M ammonia solution? (4) !l d.1 ‘~=P”)
. Lo E}Eﬂm& I:le ) @ NHs*ag + OH-(2g Kp=1.8x107
0,400 O O K= ugltodd
=X rx X (K7

\n%X(OFIS: xz'

O.900-x x X 0,400 X

RS P H =log[H
2.68xi0 = x =Ou] - '/‘35 3.73x/07"¢
Kw = [HY Lok =\

10" = (kY] 2.6 €x 10 Y
fW)=3,73x/077?

4. Calculate the % ionization of a 0.60 M solution of HSO4". (4)
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Acid-Base Quiz 2019 v2 Name:

Show all your work for questions 2, 3 and 4.

1. What is the pH of a solution whose:

a. [H]1=2.7x10°M L0
b. [OH]=8.8x10°M 9.9 ool= y.0¢
c. pOHis3.8 [0 .

2. Determine the pH of a solution made by mixing 0.25 g of NaOH in 750 mL of water?(4)
NaOH is a very strong base that dissociates at nearly 100%
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4. Calculate the % ionization of a 0.50 M solution of HSO4". (4)
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Acid-Base Quiz 2019 v3 Name: @mm ]

Show all your work for questions 2, 3 and 4.

1. What is the pH of a solution whose:

a. [H*]=7.2x103M 2.1
b. [OH]=1.8x 10°M g
c. pOHis13.8 0.2

2. Determine the pH of a solution made by mixing 0.25 g of NaOH in 900 mL of water?(4)
NaOH is a very strong base that dissociates at nearly 100%
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3. What is the pH of a 0.600 M ammonia solution? (4) \@’
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4. Calculate the % ionization of a 0.70 M solution of HSO4". (4) X=-b i_)/b 2_do.
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